oboob mmog 33

91 OD0OOOODbODbDOOOO

00 DO0O0DD0O0O0O0O0O0O0w=f(:)0000.0D0O000000O0O0O0O 2
O00000,wD wOOO0OO0 woOOOOO0OO,f(2)0 2=20000 w0
gobooo.obod

lim f(z) = wp 9.1)

Z—20

Uob.0000 000wl woooo (@uooobod
gooo)booobooooboo.

0000 w=f(:)00030000 [1z=20 f(2)00000,[2]lim,., f(z) =
wo00000,Blw = f(2)00000,000000000, f(2)0 2=z 0
00000000

() 0000 f(,)00000000.000 «000000.
(i) f(z)=(*-3a*)+32—a (2 —a)
(i) f(z) =
(i) f(z) =
(iv) f(z) =

23 — i«
z 4+«
(z—0)

(z—0)

z
Z
z
@) 0ooa f(Z)D z=00000000000O0.

{ z+z/| | (2#0)
(z=0)

{ %+Z/M (z #0)
(z=0)

0 f(z

(i) f(z

20150 120 150 (0O00O0O)



oboob mmog 34

92 OOOOODOOM

AhO00000O00O0DO0O0ODO.00D00O0DbO

lim f(zo+h) — f(20)
|h|—0 h

9.2)

0 A,0000000000000000f(:)0z2=2000000000000
d

000 f(2)0 2=2000000000000 f(2) O df(zO)DDDDDDD
z

DOOOOO0OD f(;) 00000000 f(:)0 DOOO0O0O0OO0O0O0O0O0

() f(z)=22000.h=Az0000 02000000 f(:)00000.
Q) fz)=22000.h=iAy0000 (2000000 f(z)00000.

(3) f(z)=22000.h=Az+iAy,Ay=kAz000,0 (92000000
f(z0o0000.

@ f(z)=2"000,002)0000 A000000000 nt00000
gogoo.

20150 120 150 (0O00O0O)



oboob mmog 35

93 OOOOOOO (2

() 000000 2,000000000000000000.
() f(z) =2 —2iz+3 (2 =1)
(i) f(z) = PO (20 =1)
i) /() =5 (++2) (=0

() f(2) = 21(2—) (20 = =)

z

az+ 3

2) w= ; (z# -6/y)0 z000000DOOOOOOO0,wODOOOO
vz

UeUooob)bobuooooooo.

G)n0000000.0000

f(z) =

1—=z2

0.=10000000000000.000 f(1)=n+1000.

20150 120 150 (0O00O0O)



oboob mmog 36

94 0O0O0OO

00 f(z) =-200000 w=f(:)0000000000.

() 000020000

\/g t
(a) z + 2t+22
t \/g
(b) z +2+22t

(000 t000)000 20 2,00000000060000

2 (HODODOO0OU 20000000 f:)00D0DwOOOOOOOO,000
goon.

B3 @U000wOOOOOOODOOO,00D0D000C000DOO0ODODO @O
goo.

20150 120 150 (0O00O0O)



oboob mmog 37

95 ODOUOOUOObODbDOOODbO

(h OO DOOOOODOODOOO f(x)OD0OD0O0O00000 w(z,y),v(z,y) 00
OGE=x+wy,z€D)u,v 0000000000

Ou_ov  ou_ v 9.3)
or 0Oy Oy ox
0000000000 f(-»)000 DOODODODODOOO0OOOOODO @O
goooooooboooooooooag).

2) 000 u(z,y),v(z,y) OO0 93000000, 0000 f(2) = u(z,y) +
wr,y) z=r+wy) 0000000000000 @OOOO0OOOODOO
gooboooon).

0000000000000000.3)000000,u(z,y),v(z,y)000000

0o
Pu O O D

o2 "o R T ap T
godoo.oooo20o0b00o0ouooboooo.ob0ooooooooon
godododo.odoooooooobooooo ¢e3))oouooooooano
ogoooobo,0ooooooboooood.

0

(3) u(z,y) =e*siny000000000000000.

(4 000w00000000 v(z,y) 0000,

96 LUUUOUOUUUn

000000 z=z+4y(z,y O0OD0)0O0OO f(>)00000000O0O0OO0ODO
gogboobooooobo.

() flz)=2>— 2 —z+5+i(2x — 1)y
(2) f(z) =e ¥ (cosx +i sinz)

B) f(z)=2—2

@) flz)=z+1/z

20150 120 150 (0O00O0O)



